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LGS
Additionsverfahren
Bestimmen Sie mit dem Additionsverfahren zu den folgende 
linearen Gleichungssystemen die Lösungsmengen:
x∈ℝ
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Lösung

g  : 45 = 3 x− y

h  : 0 = 1
2
x− y L={(−34|−14 )}

g  : 10 = 3 x+5 y
h  : 4 = −3 x+2 y

L={(35|35 )}
g  : 0 = x−2 y
h  : −3 = x− y

L={(0|2)}

g  : 4 = −6 x+2 y
h  : −3 = 3 x+3 y

L={(18|9 )}

L={(−6|−3 )}

L={(24|7 )}

L={(53|54 )}
L={(35|45 )}
L={(32|5)}
L={(0,6|1)}

L={( 310| 410 )}
L={(0,8|1,2)}

g  : 1
3

= 1
9
x−1
3
y

h  : 1
2

=−1
8
x+1
2
y

g  : −8 = 4
3
x−2 y

h  : 3
2

= 6 x−3
2
y
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Lösung

1 4

2 9

3 2

4 1

5 3

6 5

7 8

8 7

9 6

10 12

11 11

12 10


